

Job # : 22-0104

San Antonio Water System Solicitation Vendor Price List

Prepared By: Florinda Gonzales

Solicitation No : CO-00496

Contract No : CO-00496-01

SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2022 Sanitary Sewer Laterals Renewal and Repair Construction Contract - Package II

Time And Date: 10:00 AM December 9, 2021

Price List

						CO-00496	CO-00496 - 1_T CONSTRUCTION LLC CO-00496 - 2_FACILITIES REHAB INC					CO-00496 - 3_COPPI		
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	
	1 100.1	General Sanitary Sewer Bid Items		Mobilization for Non-Emergency Work Orders	EA	\$800.00	373	\$298,400.00	\$700.00	373	\$261,100.00	\$1,271.96	373	
	818	General Water Bid Items	01.4600.00.0002 - Construction	16" C900 DR-18 Class 235 PVC	LF		893	\$0.00	\$0.00	893	\$0.00	\$0.00	893	
	2 100.2	General Sanitary Sewer Bid Items		Mobilization for Emergency Work Orders	EA	\$3,500.00	6	\$21,000.00	\$1,000.00	6	\$6,000.00	\$1,808.92	6	
	856	General Sanitary Sewer Bid Items	01.4600.00.0002 - Construction	30" Steel Casing	LF	\$0.00	351	\$0.00	\$0.00	351	\$0.00	\$0.00	351	
	3 100.3	General Sanitary Sewer Bid Items		Preliminary Investigation	EA	\$450.00	6	\$2,700.00	\$500.00	6	\$3,000.00	\$536.96	6	
	818	General Water Bid Items	01.4600.00.0002 - Construction	16" C900 DR-18 Class 235 PVC	LF	\$0.00	893	\$0.00	\$0.00	893	\$0.00	\$0.00	893	
	4 103.1	General Sanitary Sewer Bid Items		Remove Concrete Curb	LF	\$5.00	261	\$1,305.00	\$10.00	261	\$2,610.00	\$17.64	261	
	856	General Sanitary Sewer Bid Items	01.4600.00.0002 - Construction	30" Steel Casing	LF	\$0.00	351	\$0.00	\$0.00	351	\$0.00	\$0.00	351	
	5 103.3	General Sanitary Sewer Bid Items		Remove Sidewalks and Driveways	SY	\$6.00	1,070	\$6,420.00	\$5.00	1,070	\$5,350.00	\$28.67	1,070	
	6 103.4	General Sanitary Sewer Bid Items		Remove Miscellaneous Concrete Including Street Pavement and Retaining Walls	CY	\$25.00	22	\$550.00	\$200.00	22	\$4,400.00	\$258.72	22	
	7 200	General Sanitary Sewer Bid Items		Flexible Base (Complete in place)	CY	\$45.00	12	\$540.00	\$100.00	12	\$1,200.00	\$116.73	12	
	8 203	General Sanitary Sewer Bid Items		Tack Coat	GAL	\$19.00	684	\$12,996.00	\$40.00	684	\$27,360.00	\$21.36	684	
	9 205.4	General Sanitary Sewer Bid Items		Hot Mix Asphalt Concrete Type "D", Two (2) Inch Thickness	SY	\$44.00	6,840	\$300,960.00	\$30.00	6,840	\$205,200.00	\$12.22	6,840	
	10 208.2	General Sanitary Sewer Bid Items		Salvage, Haul, Stockpile Asphalt Concrete Pavement	CY	\$22.00	380	\$8,360.00	\$200.00	380	\$76,000.00	\$1,053.40	380	
	11 209.1	General Sanitary Sewer Bid Items		Reinforced Concrete Pavement (10" thick)	CY	\$175.00	62	\$10,850.00	\$100.00	62	\$6,200.00	\$149.94	62	
	12 413.1	General Sanitary Sewer Bid Items		Flowable Backfill (Low Strength)	CY	\$125.00	2,064	\$258,000.00	\$120.00	2,064	\$247,680.00	\$131.65	2,064	
	13 500.1	General Sanitary Sewer Bid Items		Concrete Curbing	LF	\$20.00	261	\$5,220.00	\$40.00	261	\$10,440.00	\$49.98	261	
	14 500.3	General Sanitary Sewer Bid Items		Concrete Gutter	LF	\$48.00	12	\$576.00	\$40.00	12	\$480.00	\$57.33	12	
	15 502.1	General Sanitary Sewer Bid Items		Concrete Sidewalks	SY	\$68.00	429	\$29,172.00	\$100.00	429	\$42,900.00	\$64.68	429	
	16 502.3	General Sanitary Sewer Bid Items		Concrete Sidewalks, Exposed Aggregate	SY	\$95.00	12	\$1,140.00	\$150.00	12	\$1,800.00	\$103.64	12	
	17 503.1	General Sanitary Sewer Bid Items		Concrete Driveways	SY	\$65.00	497	\$32,305.00	\$120.00	497	\$59,640.00	\$96.29	497	
	18 503.2	General Sanitary Sewer Bid Items		Commercial Driveways	SY	\$85.00	75	\$6,375.00	\$140.00	75	\$10,500.00	\$113.19	75	
	19 503.3	General Sanitary Sewer Bid Items		Concrete Driveways, Exposed Aggregate	SY	\$86.00	62	\$5,332.00	\$160.00	62	\$9,920.00	\$181.55	62	
	20 506.1	General Sanitary Sewer Bid Items		Concrete Retaining Walls – Combination Type	CY	\$170.00	6	\$1,020.00	\$2,000.00	6	\$12,000.00	\$517.44	6	
	21 508	General Sanitary Sewer Bid Items		Relocate Fence	LF	\$19.00	497	\$9,443.00	\$30.00	497	\$14,910.00	\$36.75	497	
	22 513.1	General Sanitary Sewer Bid Items		Remove and Relocate All Mailbox and Supports Except Masonry	EA	\$250.00	25	\$6,250.00	\$200.00	25	\$5,000.00	\$562.48	25	
	23 513.3	General Sanitary Sewer Bid Items		Remove and Relocate Mailbox and Masonry Support	EA	\$1,300.00	2	\$2,600.00	\$500.00	2	\$1,000.00	\$1,076.98	2	
	24 515	General Sanitary Sewer Bid Items		Topsoil	CY	\$30.00	31	\$930.00	\$30.00	31	\$930.00	\$1,655.90	31	
	25 516.1	General Sanitary Sewer Bid Items		Bermuda Sodding	SY	\$9.00	31	\$279.00	\$30.00	31	\$930.00	\$68.34	31	
	26 516.2	General Sanitary Sewer Bid Items		St. Augustine Sodding	SY	\$9.00	87	\$783.00	\$30.00	87	\$2,610.00	\$68.58	87	
	27 516.4	General Sanitary Sewer Bid Items		Zoysia Sodding	SY	\$10.00	31	\$310.00	\$30.00	31	\$930.00	\$68.65	31	
	28 530.1	General Sanitary Sewer Bid Items		Barricades, Signs and Traffic Handling	EA	\$500.00	249	\$124,500.00	\$500.00	249	\$124,500.00	\$1,576.25	249	
	29 530.2	General Sanitary Sewer Bid Items		Police Officer Services	HR	\$55.00	149	\$8,195.00	\$50.00	149	\$7,450.00	\$50.00	149	
;	30 535.22	General Sanitary Sewer Bid Items		Hot Applied Thermoplastic Pavement Markings (all colors & size lines)	LF	\$12.00	249	\$2,988.00	\$10.00	249	\$2,490.00	\$73.50	249	
	31 535.23	General Sanitary Sewer Bid Items		Hot Applied Thermoplastic Pavement Markings (all symbols)	EA	\$27.00	6	\$162.00	\$100.00	6	\$600.00	\$294.00	6	
	32 535.24	General Sanitary Sewer Bid Items		Hot Applied Thermoplastic Pavement Markings (all words)	EA	\$28.00	6	\$168.00	\$200.00	6	\$1,200.00	\$1,102.50	6	
	33 854	General Sanitary Sewer Bid Items		Renew Sewer Laterals, all depths;	LF	\$62.00	8,000	\$496,000.00	\$80.00	8,000	\$640,000.00	\$256.94	8,000	
;	34 854.1.1	General Sanitary Sewer Bid Items		Install Two Way Sanitary Sewer Clean-out With Concrete Encasement;	EA	\$395.00	75	\$29,625.00	\$600.00	75	\$45,000.00	\$6,007.50	75	

Run Date 12/09/2021



San Antonio Water System Solicitation Vendor Price List

Run Date 12/09/2021

35 854.1.2	General Sanitary Sewer Bid Items	Install Two Way Sanitary Sewer Clean-out Without Concrete Encasement;	EA	\$400.00	373	\$149,200.00	\$500.00	373	\$186,500.00	\$5,371.52	373
36 854.2	General Sanitary Sewer Bid Items	Install Backwater Valve Assembly	EA	\$725.00	4	\$2,900.00	\$1,000.00	4	\$4,000.00	\$562.48	4
37 860	General Sanitary Sewer Bid Items	Construct Vertical Stack	VF	\$115.00	230	\$26,450.00	\$100.00	230	\$23,000.00	\$385.76	230
38 1103.1.1	General Sanitary Sewer Bid Items	Extra Length Point Repair 8", or 10" pipe diameter, (0'-8' depth)	LF	\$120.00	199	\$23,880.00	\$120.00	199	\$23,880.00	\$249.43	199
39 1103.1.2	General Sanitary Sewer Bid Items	Extra Length Point Repair, 8" or 10" pipe diameter, (8'-16' depth)	LF	\$135.00	68	\$9,180.00	\$120.00	68	\$8,160.00	\$289.32	68
40 1103.1.3	General Sanitary Sewer Bid Items	Extra Length Point Repair, 8" or 10" pipe diameter, (>16' depth)	LF	\$158.00	12	\$1,896.00	\$150.00	12	\$1,800.00	\$320.48	12
41 1103.2.1	General Sanitary Sewer Bid Items	Extra Length Point Repair, 12" or 15" pipe diameter, (0'-8' depth)	LF	\$175.00	19	\$3,325.00	\$150.00	19	\$2,850.00	\$392.75	19
42 1103.2.2	General Sanitary Sewer Bid Items	Extra Length Point Repair, 12" or 15" pipe diameter, (8'-16' depth)	LF	\$178.00	12	\$2,136.00	\$180.00	12	\$2,160.00	\$520.56	12
43 1103.2.3	General Sanitary Sewer Bid Items	Extra Length Point Repair, 12" or 15" pipe diameter, (>16' depth)	LF	\$189.00	12	\$2,268.00	\$250.00	12	\$3,000.00	\$624.88	12
44 1103.3.1	General Sanitary Sewer Bid Items	Extra Length Point Repair, 18" or 21" pipe diameter, (0'-8' depth)	LF	\$200.00	12	\$2,400.00	\$180.00	12	\$2,160.00	\$663.06	12
45 1103.3.2	General Sanitary Sewer Bid Items	Extra Length Point Repair, 18" or 21" pipe diameter, (8'-16' depth)	LF	\$215.00	6	\$1,290.00	\$220.00	6	\$1,320.00	\$731.54	6
46 1103.3.3	General Sanitary Sewer Bid Items	Extra Length Point Repair, 18" or 21" pipe diameter, (>16' depth)	LF	\$230.00	6	\$1,380.00	\$300.00	6	\$1,800.00	\$893.85	6
47 1103.4.1	General Sanitary Sewer Bid Items	Extra Length Point Repair, 24" pipe diameter, (0'-8' depth)	LF	\$236.00	12	\$2,832.00	\$200.00	12	\$2,400.00	\$830.79	12
48 1103.4.2	General Sanitary Sewer Bid Items	Extra Length Point Repair, 24" pipe diameter, (8'-16' depth)	LF	\$250.00	6	\$1,500.00	\$300.00	6	\$1,800.00	\$959.27	6
49 1103.4.3	General Sanitary Sewer Bid Items	Extra Length Point Repair, 24" pipe diameter, (>16' depth)	LF	\$275.00	6	\$1,650.00	\$350.00	6	\$2,100.00	\$1,061.57	6
50 1103.5	General Sanitary Sewer Bid Items	Lateral Point Repair, all depths;	EA	\$2,500.00	19	\$47,500.00	\$1,000.00	19	\$19,000.00	\$11,539.50	19
51 1109.1.1	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 8" or 10" pipe diameter, (0'-8' depth)	EA	\$1,270.00	317	\$402,590.00	\$1,000.00	317	\$317,000.00	\$10,069.50	317
52 1109.1.2	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 8" or 10" pipe diameter, (8'-16' depth)	EA	\$1,475.00	50	\$73,750.00	\$1,500.00	50	\$75,000.00	\$10,878.00	50
53 1109.1.3	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 8" or 10" pipe diameter, (>16' depth)	EA	\$1,990.00	6	\$11,940.00	\$2,000.00	6	\$12,000.00	\$12,509.70	6
54 1109.2.1	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 12" or 15" pipe diameter, (0'-8' depth)	EA	\$2,735.00	6	\$16,410.00	\$1,200.00	6	\$7,200.00	\$19,992.00	6
55 1109.2.2	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 12" or 15" pipe diameter, (8'-16' depth)	EA	\$2,900.00	2	\$5,800.00	\$1,200.00	2	\$2,400.00	\$20,947.50	2
56 1109.2.3	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 12" or 15" pipe diameter, (>16' depth)	EA	\$3,345.00	2	\$6,690.00	\$2,500.00	2	\$5,000.00	\$23,042.25	2
57 1109.3.1	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 18" or 21" pipe diameter, (0'-8' depth)	EA	\$3,395.00	2	\$6,790.00	\$2,000.00	2	\$4,000.00	\$39,984.00	2
58 1109.3.2	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 18" or 21" pipe diameter, (8'-16' depth)	EA	\$3,800.00	2	\$7,600.00	\$2,500.00	2	\$5,000.00	\$44,100.00	2
59 1109.3.3	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 18" or 21" pipe diameter, (>16' depth)	EA	\$3,800.00	2	\$7,600.00	\$3,000.00	2	\$6,000.00	\$50,715.00	2
60 1109.4.1	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 24" pipe diameter, (0'-8' depth)	EA	\$3,800.00	2	\$7,600.00	\$3,000.00	2	\$6,000.00	\$59,976.00	2
61 1109.4.2	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 24" pipe diameter, (8'-16' depth)	EA	\$3,800.00	2	\$7,600.00	\$3,500.00	2	\$7,000.00	\$65,973.60	2
62 1109.4.3	General Sanitary Sewer Bid Items	Open Cut Lateral Connection, 24" pipe diameter, (>16' depth)	EA	\$3,800.00	1	\$3,800.00	\$4,000.00	1	\$4,000.00	\$72,570.96	1
63 1109.5	General Sanitary Sewer Bid Items	New Connection to a Manhole;	EA	\$1,095.00	4	\$4,380.00	\$2,000.00	4	\$8,000.00	\$1,236.74	4
64 1120	General Sanitary Sewer Bid Items	CPS Energy Allowance	ALW	\$25,000.00	1	\$25,000.00	\$25,000.00	1	\$25,000.00	\$25,000.00	1
,		·	Total			\$2,552,791.00			\$2,610,860.00		
Calendar Days To Complete : 395			As Read:		\$	2,552,791.00	\$		2,586,860.00	\$	

Total Amount
\$474,441.08
\$0.00
\$10,853.52
\$0.00
\$3,221.76
\$0.00
\$4,604.04
\$0.00
\$30,676.90
\$5,691.84
\$1,400.76
\$14,610.24
\$83,584.80
\$400,292.00
\$9,296.28
\$271,725.60
\$13,044.78
\$687.96
\$27,747.72
\$1,243.68
\$47,856.13
\$8,489.25
\$11,256.10
\$3,104.64
\$18,264.75
\$14,062.00
\$2,153.96
\$51,332.90
\$2,118.54
\$5,966.46
\$2,128.15
\$392,486.25
\$7,450.00
\$18,301.50
\$1,764.00
\$6,615.00
\$2,055,520.00

\$450,562.50

ERA LLC

\$2,003,576.96
\$2,249.92
\$88,724.80
\$49,636.57
\$19,673.76
\$3,845.76
\$7,462.25
\$6,246.72
\$7,498.56
\$7,956.72
\$4,389.24
\$5,363.10
\$9,969.48
\$5,755.62
\$6,369.42
\$219,250.50
\$3,192,031.50
\$543,900.00
\$75,058.20
\$119,952.00
\$41,895.00
\$46,084.50
\$79,968.00
\$88,200.00
\$101,430.00
\$119,952.00
\$131,947.20
\$72,570.96
\$4,946.96
\$25,000.00
\$11,543,460.79
11,518,635.95